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1. Answer the following:
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(1) What is the difference between latching current and holding current.
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(it1)  The rms value of the output voltage
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The ac component of the output § voltage
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The ac component and the rms of the current in the resistor
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The transformer utilization factor
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(1) Draw the eircuit diagram
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(iii)  Find the rms value of the output current,
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{iv) Find 1-’“# rms value of the current in cach thvristor 1‘5 35
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(vi)  Find the average current in each thyristor
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(ix)  Sketch the wavetorm
of the thyristors and the supply current.

% ) f_\\ /f\ I_f\f

g
L., 4 2
F )
>
e il i g
i ———— g o[
L o i L “‘.'l_l

o S 3
! N
|
| —
L Y Lo =L
[ 2 y
' 'L.--"/ 2
S ;
i) \ xR
Tt PRI it
|rex A )




' . = T AN AVOTapC
4. A Jine w line voltage of 400V , 3-phase, h‘.’y_i'i"k‘wc 'l.'r'_ﬂﬂ"ﬂ-"lw SUpply g ﬁm-ﬂl’i:.‘i i
voltage of 200V de o a pure resistive load. 5} | ]
{1) Sketch the ¢ircuit diagrum {or this converter
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() Find the rms vitlue of the output voltge
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(v)  Find the rms value of the current in ¢ach thyristor
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{vi) sketeh the waveform of the output voltage and curreht in one thyristor,
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